2025 RERBLEBXE REQS

#im 51 & Rl #a 5l LRERN
2-1 FiZX X 2% 100
2-2 AXY 5 28 100
2-3 A== = 2% #H 100
2-4 sRIIIE 4 21% 48 100
2-5 EEHR 5 2% 100
2-6 sRINF] 5 28 110
2-7 2= X 2% 100
2-8 sRIZ 5 2% 120
2-9 PR &R M, 5 21% 4 100
2-10 %18 5 2% 100
2-11 1% B 5 2% A 110
3-1 S]F ¥ 4 348 110
3-2 | BERWilangeBuyung = 3% 110
3-3 Sh=S] 5 348 100
3-4 MRS 5 3k A 110
3-5 HLUE 5 3 110
3-6 PR X 3k A 110
3-7 PRZR 15 7 3 110
3-8 TR E = 3k A 100
3-9 PR1GHT = 3 120
3-10 THE 5 3k A 110
3-11 SinR 5 3w 110
3-12 &N =) 5 3% 48 110
3-13 FRM 5 3 120
3-14 FREH = 3 A 120
3-15 MAB R = 3 110
3-16 MIE = 4 3% 48 100
3-17 3 Xz 3 110
3-18 kTR Es 348 110
3-19 sRES 5 3 110




2025 RERBLEBXE REQS

A 3l% 2 ] #8 5 X AN
3-20 B =4 4 3 AR 110
3-21 e 5 3 A 110
3-22 SHBUR 4 3 AR 110
3-23 IR E 5 3 120
3-24 miaE 5= 3 AR 110
4-1 LEE 5 AR #H 120
4-2 H%#7T 5 4% 48 100
4-3 o] #E 4 A% #H 120
4-5 MR 5 AR 110
4-6 FE R 5 A% #H 120
4-7 RT3 5 AR #H 110
4-8 =N 5 A% #H 120
4-9 EERE 5 AR #H 110
4-10 FEMGE 5 A% #H 120
4-11 MR 5 AR #H 120
4-12 ERE = 4% 48 110
4-13 AT RKIE 5 AR 120
4-15 = 15 4 5 4% 48 110
4-16 5 IEE] 5 AR #H 100
4-17 (EZF)E2 5 4% 48 120
4-18 EHEE 5 AR #H 110
4-19 EEN, 5 4% 48 110
5-1 REE 5 Sk 4l 110
5-2 RIET] 4 S5k #H 120
5-3 MIERR 5 Sk 4l 150
5-4 SR I 4% 5 S5k #H 130
5-5 RFR 5 Sk 4l 120
5-6 FR 552 50 4 S5k #H 120
5-7 ManE 4 Sk 4l 120
5-8 2%5 5 S5k #H 110




2025 RERBLEBXE REQS

A 3l% 2 5l 25l X AN
5-9 m= 5= S5k AE 120
5-10 sRANE 5 S5k 4l 130
5-11 sREIER 5= S5k AE 120
5-12 E2E 4 Sk 4l 100
6-1 (FES 77 5= 6% 140
6-2 FHEAE 5 6% AH 120
6-3 MISE 5 6% 150
6-4 L) 5 6% AH 120
6-5 fRARES 5= 6% #H 130
6-6 MtE & 4 6% AH 130
8-1 Fi15H % | OPEN#H 130
8-2 Fi58h 5 | OPEN#A 130
8-3 T 5 | OPEN# 130
3-7 FR 215 4 Rebnsd 100
4-18 EHEE 5 Aebasd 110
9-1 RIS 24 Refndd 110
9-2 sRAR 5 Aebadd 120
9-3 Mz 4 Rebndd 100
9-4 MEZR 5 Aebasd 110
9-5 SIET 4 Refndd 100
9-6 TR R 4 Aebasd 130
9-7 B = Refndd 130
9-8 B 5 Aebasd 100
9-9 EE&TE 4 Rl 110




